
Building American Quality… With A Lifetime Warranty!

General Installation Notes:
Please read these instructions completely before beginning the 
installation. If you have any questions, please call.

Before beginning the installation, disconnect the negative battery 
cable and use wheel chocks to block the vehicle's wheels.

Make sure the engine, transmission, body and frame are 
properly grounded. 

Refer to Fig. 1 and Fig. 9 for the component names.

Step 1: See Fig. 2 to view the difference between the A/C rear bracket 
spacers, the alternator and power steering rear bracket spacers, and 
the spacer that will be installed between the A/C front bracket and 
the water pump.  They are very close to each other in length. MAKE 
SURE you use the correct length spacers in each location.

	 Hold the A/C rear bracket in front of the passenger side cylinder 
head in the position shown in Fig. 3. Install an M10 x 35mm hex 
head bolt with flat washer into each of the three bolt holes in the 
bracket that line up with the bolt holes in the cylinder head. Place 
a .310" long spacer onto each of the bolts, using the spacer with 
the smaller outer diameter on the bolt that will be behind the water 
pump inlet.

	 Install the A/C rear bracket onto the cylinder head, with the spacers 
between the bracket and the cylinder head.

Step 2: Install two 3/8"-16 x 1-3/4" hex head bolts with flat washers into 
the two remaining unthreaded bolt holes at the opposite end of the 
A/C rear bracket, from the front. Install a .250" long spacer onto 
each of those bolts, on the rear side of the bracket.

	 Install the A/C compressor onto the A/C rear bracket using the rear 
mounting ears on the compressor, and secure with the 3/8"-16 
flanged nuts. Fig. 4

Step 3: Loosely bolt the front A/C bracket to the rear side of the front ears 
of the compressor, using the 3/8"-16 x 1-1/2" hex head bolts with 
flat washers and flanged nuts.

TOLL FREE 1-877-469-7440    •    tech@lokar.com    •    www.lokar.com

®

Accessory Drive Kit Installation Instructions
F-Body Kit with A/C and Power Steering

Accessory Drive Kit Installation Instructions
F-Body Kit with A/C and Power Steering

INS0264  Rev. 4/17/2024Page 1© 2024 Lokar, Inc.

Fig. 1Fig. 1

A/C Rear 
Bracket

A/C Front Bracket

A/C Compressor

Belt 
Tensioner 
Assembly

2-1/4" Long Stepped Spacer 
and Machined Smooth Pulley

M10 x 35mm Hex Head Bolts and Flat Washers 
with .310" Long Spacers (see Fig. 2)

Serpentine 
Belt

3/8"-16 x 1-1/2" 
Hex Head Bolts, 

Flat Washers, and 
Flanged Nuts

3/8"-16 x 1-3/4" 
Hex Head Bolts, 

Flat Washers, and 
Flanged Nuts

M10 x 60mm 
Hex Head Bolt 

and Flat Washer

3/8"-16 x 3-3/4" 
Hex Head Bolt 

and Flat Washer
3/8"-16 x 2-3/4" Hex Head 

Bolt and Flat Washer

.330" Long Spacer

.250" Long 
Spacers

1-5/8" Long Spacer

M10 x 45mm Hex Head 
Bolt and Flat Washer

Fig. 2Fig. 2 Fig. 3Fig. 3

.310" Long .310" Long 
Spacers Behind Spacers Behind 

A/C Rear BracketA/C Rear Bracket

.330" Long Spacer .330" Long Spacer 
Between A/C Between A/C 

Front Bracket and Front Bracket and 
Water PumpWater Pump

.250" Long Spacers .250" Long Spacers 
behind Power behind Power 

Steering Rear BracketSteering Rear Bracket

Spacers behind A/C Rear Bracket. Alternator and Spacers behind A/C Rear Bracket. Alternator and 
Power Steering Rear Bracket, and between A/C Front Power Steering Rear Bracket, and between A/C Front 

Bracket and Water PumpBracket and Water Pump

A/C Rear BracketA/C Rear Bracket
Spacer With Spacer With 

Smaller Outer Smaller Outer 
DiameterDiameter

M10 x 35mm Hex Head Bolts and Flat M10 x 35mm Hex Head Bolts and Flat 
Washers, with .310" Long Spacers Washers, with .310" Long Spacers 

Behind Bracket (see Fig. 2)Behind Bracket (see Fig. 2)



Page 2© 2024 Lokar, Inc.

Fig. 6Fig. 6Fig. 5Fig. 5
INS0264  Rev. 4/17/2024

A/C Front BracketA/C Front Bracket

3/8"-16 x 1-1/2" 3/8"-16 x 1-1/2" 
Hex Head Bolts, Hex Head Bolts, 

Flat Washers, and Flat Washers, and 
Flanged NutsFlanged Nuts

M10 x 45mmM10 x 45mm
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer

M10 x 60mmM10 x 60mm
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer

Belt TensionerBelt Tensioner

3/8"-16  x  3-3/4" 3/8"-16  x  3-3/4" 
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer

Original Original 
Tensioner Pulley Tensioner Pulley 

(Grooved)(Grooved)
1-5/8" Long Spacer  1-5/8" Long Spacer  

between Belt Tensioner between Belt Tensioner 
and A/C Rear Bracket, and A/C Rear Bracket, 

hidden from viewhidden from view
.330" Long Spacer .330" Long Spacer 
Between Bracket Between Bracket 
and Water Pumpand Water Pump

Step 4: Place the .330" long spacer between the A/C front bracket and the water pump. Install an M10 x 45mm hex 
head bolt with flat washer through the bracket and spacer, and into the water pump.

	 Tighten the 3/8"-16 x 1-1/2" bolts and flanged nuts at the front of the compressor. Fig. 5

Step 5: Position the belt tensioner on the water pump, and loosely install the M10 x 60mm hex head bolt with 
flat washer. Position the 1-5/8" long spacer between the tensioner and the A/C rear bracket. Insert the 
3/8"-16 x 3-3/4" hex head bolt with flat washer through the tensioner and spacer and thread it into the 
A/C rear bracket.

	 Tighten both of the tensioner mounting bolts. Fig. 6

Step 6: Remove the pulley bolt from the tensioner, and remove the original tensioner pulley. Set the pulley aside. Install 
the supplied machined smooth tensioner pulley onto the tensioner using the original bolt. Fig. 7

Step 7: Position the original tensioner pulley you removed in Step 6 on the 2-1/4" long stepped spacer. Use the 
3/8"-16 x 2-3/4" hex head bolt and flat washer to bolt the original tensioner pulley onto the A/C front bracket. 
Fig. 8 

Step 8: See Fig. 9 for the names of the components that will be installed on the driver side of the engine. Hold the alternator 
and power steering rear bracket in the position shown in Fig. 10 in front of the driver side cylinder head. Locate 
the two bolt holes in the cylinder head that are closest to the intake manifold. Install an M10 x 35mm hex head 
bolt with flat washer into each of the corresponding two bolt holes in the bracket. Install two M10 x 35mm flat head 
bolts into the bolt holes in the bracket that line up with the bolt holes in the cylinder head  and engine block that 
are closest to the exhaust manifold. NOTE: Not all engine blocks have a bolt hole that aligns with the lower right 
bolt hole in this bracket. If your engine block does not have this hole, you can drill and tap a 10mm-1.5 hole in this 
location, or you may leave out the lower right bolt. 

	 Place a .250" long spacer onto each of the three upper bolts and a .310” long spacer on the bolt at the bottom 
right corner of the bracket (see Fig. 2). Install the alternator and power steering rear bracket onto the cylinder 
head, with the spacers between the bracket and the cylinder head.

A/C CompressorA/C Compressor

.250" Long Spacers between .250" Long Spacers between 
Compressor and Bracket Compressor and Bracket 

(see Fig. 2)(see Fig. 2)

3/8"-16 x 1-3/4" 3/8"-16 x 1-3/4" 
Hex Head Bolts, Hex Head Bolts, 

Flat Washers, and Flat Washers, and 
Flanged NutsFlanged Nuts

Fig. 4Fig. 4



© 2024 Lokar, Inc.

Fig. 7Fig. 7 Fig. 8Fig. 8

Fig. 10Fig. 10
Page 3 INS0264  Rev. 4/17/2024

M10 x 35mm Hex Head Bolts and M10 x 35mm Hex Head Bolts and 
Flat Washers, with .250" Long Flat Washers, with .250" Long 

Spacers Behind Bracket (see Fig. 2)Spacers Behind Bracket (see Fig. 2)

M10 x 35mm Flat Head 
Bolt with .250" Long 

Spacer Behind Bracket
(see Fig. 2)

M10 x 35mm Flat Head Bolt with 
.310” Long Spacer Behind Bracket

(see Fig. 2)
NOTE:  This bolt hole is not present 
in some engine blocks. See Step 8.

Alternator and 
Power Steering 

Rear Bracket

3/8"-16  x  2-3/4" 3/8"-16  x  2-3/4" 
Hex Head Bolt Hex Head Bolt 

and Flat Washer, and Flat Washer, 
with 2-1/4" Long with 2-1/4" Long 
Stepped Spacer Stepped Spacer 
behind  Pulleybehind  Pulley

Original Original 
Tensioner Pulley Tensioner Pulley 

(Grooved)(Grooved)

Machined Machined 
Smooth PulleySmooth Pulley

Fig. 9Fig. 9

Alternator and Power Steering Rear Bracket

Alternator and 
Power Steering
Front Bracket

Power Steering Low 
Flow Valve

Smooth Steel Pulley and 
7/8" Long Stepped Spacer 

with Short Shoulder

Grooved Plastic 
Pulley

7/8" Long 
Stepped 

Spacer with 
Tall Shoulder

Power Steering Pump

Power Steering 
Fluid Reservoir

Power Steering Reservoir 
Hose and Clamps

3/8"-16 x 3-1/2" 
Hex Head Bolts 

and Flat Washers

5/16"-18 x 3" Hex 
Head Bolts and 

Flat Washers

5/16"-18 x 7/8" 
Flat Head Bolts

M10 x 35mm Flat 
Head Bolts

7/16" Long 
Spacers

(3) .250" Long  Spacers, 
(1) .310 Long Spacer

(see Fig. 2)

2-3/8" Long 
Spacer

M10 x 35mm Hex 
Head Bolts and Flat 

Washers

3/8"-16 x 1-1/2"
Hex Head Bolt 

and Flat Washer

3/8"-16 x 4-1/2"
Hex Head Bolt 

and Flat Washer

Alternator



Step 9: The 7/8" long stepped spacers have different shoulder heights. The spacer with the taller shoulder height fits 
the grooved plastic pulley, and the spacer with the shorter shoulder height fits the smooth steel pulley. Fig. 11

	 Place the grooved plastic pulley onto the 7/8" long stepped spacer with the taller shoulder height. Insert the 
3/8"-16 x 4-1/2" hex head bolt with flat washer into the spacer from the pulley side. Pass the bolt through 
the hole in the corner of the alternator and power steering front bracket. Make sure the countersunk holes 
in the bracket are on the same side of the bracket as the pulley.

	 Then, place the 2-3/8" long spacer onto the bolt. Finally, thread the bolt into the hole in the rear bracket 
that is between the hex head bolts, and tighten. Fig. 12

Step 10: Insert one of the 3/8"-16 x 3-1/2" bolts though the lower alternator bolt hole in the alternator and power 
steering front bracket. Place a 7/16" long spacer on the bolt behind the alternator. Raise the alternator 
and front bracket up and thread the bolt into the lower alternator bolt hole in the alternator and power 
steering rear bracket, but do not tighten yet. Fig. 13

Step 11: Swing the alternator up into place. Install the other 3/8"-16 x 3-1/2" bolt through the front bracket and alternator. 
Position the other 7/16" long spacer behind the alternator and slide the bolt through it, and thread the bolt into 
the rear bracket.

	 Tighten both 3/8"-16 x 3-1/2" bolts. Fig. 14

© 2024 Lokar, Inc. INS0264  Rev. 4/17/2024Page 4

7/8" Long Stepped 7/8" Long Stepped 
Spacer with shorter Spacer with shorter 

shoulder fits smooth shoulder fits smooth 
steel pulleysteel pulley

7/8" Long Stepped 7/8" Long Stepped 
Spacer with taller Spacer with taller 

shoulder fits Grooved shoulder fits Grooved 
Plastic PulleyPlastic Pulley

3/8"-16 x 4-1/2" 3/8"-16 x 4-1/2" 
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer

2-3/8" Long Spacer2-3/8" Long Spacer

Alternator and Alternator and 
Power Steering Power Steering 
Front BracketFront Bracket

Grooved Plastic Grooved Plastic 
PulleyPulley

7/8" Long Stepped 7/8" Long Stepped 
Spacer with taller Spacer with taller 

shoulder, hidden from shoulder, hidden from 
sightsight

Alternator

Fig. 11Fig. 11

Fig. 12Fig. 12

Fig. 13Fig. 13 Fig. 14Fig. 14

3/8"-16 x 3-1/2" 3/8"-16 x 3-1/2" 
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer

3/8"-16 x 3-1/2" 3/8"-16 x 3-1/2" 
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer

7/16" Long Spacer 
(between Alternator 

and Rear Bracket)

7/16" Long Spacer 
(between Alternator 

and Rear Bracket)



INS0264  Rev. 4/17/2024Page 5© 2024 Lokar, Inc.

Step 12: Position the power steering pump underneath the grooved plastic pulley so the bolt 
holes in the pump are aligned with the holes in the rear bracket, and the reservoir 
connection port is on the top. Install two 5/16"-18 x 3" bolts to attach the pump to 
the rear bracket. Fig. 15

Step 13: Remove the cap from the power steering fluid reservoir connection port. Install the 
power steering reservoir hose onto the pump and slide the clamps onto the hose.

	 Slide the power steering fluid reservoir down in between the front and rear brackets, 
with the bolt holes towards the front and the reservoir outlet on your right, while 
guiding the reservoir outlet into the hose. Install two 5/16"-18 x 7/8" flat head bolts 
through the upper two holes in the front bracket and into the reservoir. Position and 
tighten the hose clamps. Fig. 16

Step 14: Place the smooth steel pulley on the 7/8" long stepped spacer with the shorter 
shoulder height. Insert the 3/8"-16 x 1-1/2" hex head bolt with flat washer into the 
spacer from the pulley side. Thread the bolt with the pulley and spacer into the 
remaining bolt hole in the alternator and power steering front bracket, and tighten. 
Fig. 17.

Step 15: Route the serpentine belt as shown in Fig. 18. If the engine is out of the vehicle, 
it will be easiest to leave the water pump pulley for last. Place a wrench on the 
tensioner pulley bolt, and apply clockwise pressure to move the tensioner pulley 
downward as you slide the belt around the final pulley.

Step 16 (optional): A low flow power steering pump valve has been provided for customers 
that need it. It can be installed in the power steering pump outlet now, if desired.

Fig. 15Fig. 15

Fig. 17Fig. 17

Fig. 16Fig. 16

Power Steering Power Steering 
Fluid ReservoirFluid Reservoir

Power Steering Fluid Power Steering Fluid 
Reservoir Hose and ClampsReservoir Hose and Clamps

Power Steering Power Steering 
PumpPump

5/16"-18 x 3"
Hex Head Bolts 

and Flat Washers

5/16"-18 x 7/8" 5/16"-18 x 7/8" 
Flat Head BoltsFlat Head Bolts

Smooth Steel Pulley and 
7/8" Long Stepped Spacer 

with Short Shoulder

3/8"-16 x 1-1/2"3/8"-16 x 1-1/2"
Hex Head Bolt Hex Head Bolt 

and Flat Washerand Flat Washer



INS0264  Rev. 4/17/2024Page 6© 2024 Lokar, Inc.

Fig. 18Fig. 18

Serpentine 
Belt


